ELSEVIER

Contents lists available at ScienceDirect

Computers and Mathematics with Applications



journal homepage: www.elsevier.com/locate/camwa

On some fractional evolution equations

Mahmoud M. El-Borai*, Khairia El-Said El-Nadi, Eman G. El-Akabawy

Faculty of Science, Alexandria University, Alexandria, Egypt

ARTICLE INFO

Keywords: Fractional evolution equation Semigroup Resolvent operator

ABSTRACT

In this paper the solutions of some evolution equations with fractional orders in a Banach space are considered. Conditions are given which ensure the existence of a resolvent operator for an evolution equation in a Banach space.

© 2009 Elsevier Ltd. All rights reserved.

1. Introduction

In this paper we shall be concerned with a fractional evolution equation of the form

$$\frac{\mathrm{d}^{\alpha}x(t)}{\mathrm{d}t^{\alpha}} - A(t)x(t) = \int_{0}^{t} B(t,s)x(s)\mathrm{d}s + f(t), \quad t > 0$$

$$\tag{1.1}$$

with the initial condition

$$x(0) = 0 \tag{1.2}$$

where $0 < \alpha \le 1$, for each $t \in [0,T]$, T > 0, A(t) is a closed linear operator with dense domain D(A) which is independent of t. Also, for $0 \le s \le t \le T$, B(t,s) is a closed linear operator with domain at least D(A). Suppose Y is the Banach space formed from D(A) with the graph norm $\|y\|_Y = \|A(0)y\| + \|y\|$ where $\|\|$ is the norm on the Banach space X. As A(t) and B(t,s) are closed operators it follows that A(t) and B(t,s) are in the set of bounded operators from Y to X, B(Y,X), for $0 \le t \le T$ and $0 \le s \le t \le T$, respectively. Assume further that A(t) and B(t,s) are continuous on $0 \le t \le T$ and $0 \le s \le t \le T$, respectively, into B(t,s) are in the set of bounded operators from C(t,s) denote the Banach space of all linear bounded operators in C(t,s) endowed with the topology defined by the operator norm. It is assumed that the operator C(t,s) exists in C(t,s) for any C(t,s) or C(t,s) and C(t,s) for each C(t,s) for each C(t,s) end of C(t,s) and there exists a positive constant C(t,s) of C(t,s) and of C(t,s) energiators an analytic semigroup C(t,s) and there exists a positive constant C(t,s) but of C(t,s) and C(t,s) energiators and C(t,s) energiators and C(t,s) expectators and C(t,s) expectators and C(t,s) energiators and C(t,s) expectators are also expectators and C(t,s) expectators and C(t,s) expectators are also expectators and C(t,s) expectators and C(t,s) expectators are also expectators are also expectators and C(t,s) expectators are also expectators are also expectators are also expectators are al

$$||A^n(s)e^{-tA(s)}|| \le \frac{C}{t^n}$$

where $n = 0, 1, t > 0, s \in [0, T]$.

It is further assumed that $\{T(t)\}_{t\geq 0}$ defined by T(t)f(s)=f(t+s) is a C_0 semigroup on χ with generator D_s on domain $D(D_s)$, where χ is a subspace of the set of bounded uniformly continuous functions on R^+ into X. Let us suppose that:

- (H₀) $\{A(t)\}$, $0 \le t \le T$, is a stable family of generators such that A(t)x is strongly continuously differentiable on [0, T] for $x \in D(A)$. In addition, B(t)x is strongly continuously differentiable on [0, T] for $x \in D(A)$; see [1-6].
- (H_1) B(t) is continuous on $[0, \infty)$ into $\beta(Y, \chi)$.
- (H₂) B(t), B'(t): $Y \rightarrow D(D_s)$ for all $t, s \ge 0$.
- (H₃) $D_sB(t)$, $D_sB'(t)$ are continuous on $[0, \infty)$ into $\beta(Y, \chi)$.

^{*} Corresponding author. Tel.: +20 3 5826365; fax: +20 3 3911794.

E-mail addresses: m_m_elborai@yahoo.com (M.M. El-Borai), khairia_el_said@hotmail.com (K. El-Said El-Nadi), e_elakabawy@yahoo.com (E.G. El-Akabawy).

We shall first consider the fractional evolution equation of the form

$$\frac{\mathrm{d}}{\mathrm{d}t} \left(\frac{\mathrm{d}^{\alpha} x(t)}{\mathrm{d}t^{\alpha}} - A(t)x(t) \right) = B_1(t)x(t) + \int_0^t B_2(t,s)x(s)\mathrm{d}s + f_1(t)$$
(1.3)

with the initial conditions

$$x(0) = 0, \qquad \frac{\mathrm{d}x(0)}{\mathrm{d}t} = 0$$
 (1.4)

and then we obtain the solution of the problem (1.1) and (1.2).

2. Existence of solutions

Theorem 2.1. Assume that $B_1(t)$ and $B_2(t,s)$ are closed linear operators defined on dense sets in X into X with domain at least D(A) and B_1 and B_2 satisfy $(H_0)-(H_3)$, and $f_1:R^+\to X$ is absolutely continuous; then the problem (1.3) and (1.4) has a unique solution

$$x(t) = \int_0^t \int_0^{\eta} \psi(t - \eta, \eta) R(\eta, \eta_1) f_1(\eta_1) d\eta_1 d\eta + \int_0^t \int_0^{\eta} \int_0^s \psi(t - \eta, \eta) \phi(\eta, s) R(s, \eta_1) f_1(\eta_1) d\eta_1 ds d\eta.$$

Proof. First we assume that

$$\frac{\mathrm{d}^{\alpha}x(t)}{\mathrm{d}t^{\alpha}} - A(t)x(t) = U(t). \tag{2.1}$$

Hence formally, from [7],

$$x(t) = \int_0^t \psi(t - \eta, \eta) U(\eta) d\eta + \int_0^t \int_0^{\eta} \psi(t - \eta, \eta) \phi(\eta, s) U(s) ds d\eta$$
 (2.2)

where $\psi(t,s) = \alpha \int_0^\infty \theta t^{\alpha-1} \zeta_\alpha(\theta) e^{-t^\alpha \theta A(s)} d\theta$, ζ_α is a probability density function defined on $[0,\infty]$, and ϕ is the unique solution of the integral equation

$$\phi(t,\tau) = \phi_1(t,\tau) + \int_{\tau}^{t} \phi(t,s)\phi_1(s,\tau)ds,$$

$$\phi_1(t,\tau) = [A(t) - A(\tau)]\psi(t-\tau,\tau).$$

From (1.3), (1.4) and (2.2) we get

$$\frac{dU(t)}{dt} = \int_{0}^{t} B_{1}(t)\psi(t-\eta,\eta)U(\eta)d\eta + \int_{0}^{t} \int_{0}^{\eta} B_{1}(t)\psi(t-\eta,\eta)\phi(\eta,s)U(s)dsd\eta
+ \int_{0}^{t} \int_{0}^{z} B_{2}(t,z)\psi(z-\eta,\eta)U(\eta)d\eta dz
+ \int_{0}^{t} \int_{0}^{z} \int_{0}^{\eta} B_{2}(t,z)\psi(z-\eta,\eta)\phi(\eta,s)U(s)dsd\eta dz + f_{1}(t)$$
(2.3)

$$U(o) = 0. (2.4)$$

We rewrite Eq. (2.3) as

$$\frac{dU}{dt} = \int_{0}^{t} C_{1}(t, \eta)U(\eta)d\eta + \int_{0}^{t} C_{2}(t, s)U(s)ds + \int_{0}^{t} C_{3}(t, \eta)U(\eta)d\eta + \int_{0}^{t} C_{4}(t, s)U(s)ds + f_{1}(t)$$

$$= \int_{0}^{t} C_{5}(t, \eta)U(\eta)d\eta + \int_{0}^{t} C_{6}(t, s)U(s)ds + f_{1}(t)$$

$$= \int_{0}^{t} C_{7}(t, s)U(s)ds + f_{1}(t) \tag{2.5}$$

where

$$C_{1}(t,\eta) = B_{1}(t)\psi(t-\eta,\eta), C_{2}(t,s) = \int_{t}^{s} B_{1}(t)\psi(t-\eta,\eta)\phi(\eta,s)d\eta, C_{3}(t,\eta)$$

$$= \int_{\eta}^{t} B_{2}(t,z)\psi(z-\eta,\eta)dz, C_{4}(t,s) = \int_{s}^{t} \int_{z}^{s} B_{2}(t,z)\psi(z-\eta,\eta)\phi(\eta,s)d\eta dz, C_{5}(t,\eta)$$

$$= C_{1}(t,\eta) + C_{3}(t,\eta), C_{6}(t,s) = C_{2}(t,s) + C_{4}(t,s) \text{ and } C_{7}(t,s) = C_{5}(t,s) + C_{6}(t,s).$$
(2.6)

Download English Version:

https://daneshyari.com/en/article/471836

Download Persian Version:

https://daneshyari.com/article/471836

<u>Daneshyari.com</u>